No. Item Description Quantity Unit
1004853 STUD BOLT W/NUT 1.1/4 X 8.1/4 23 EACH
2084495 STUD:BOLT7/8 IN DIATHD UNC 2A14 IN LGALLOY STEELASTM-A193GR B7 30 EACH
3_085172 STUD:BOLT1 IN DIATHD UNC 2A5-1/2 IN LGCARBON STEELASTM-A307 LVGR B 12 EACH
4 085782 BOLTMACHINE:3/8 IN DIATHD 16 UNC 2A2 IN LG347 SS ASTM-A193 GR BSCHD HEX 50 EACH
5 098135 STUDBOLTDIA-A 2-1/4 INDIA-B 2-1/4 INTHD-A 8UNCTHD-B 8UNC33-11/32 INALLOY STEELASTM-A193GR B7 16 EACH
6_098905 BOLTMACHINE:5/8 IN DIATHD UNC 2A2-3/4 IN LGASTM-A307 LV GR A/JIS SS41HD HEX 80 EACH
7330646 Stud Bolts 1-7/8" L=359MM 8UN-+nuts 100 EACH
8 409299 STUD BOLT WITH 2 HEAVY HEX. NUTS 5/8 inch-11UNC x 105L 4 ST
9 412453 Hex Head Bolt DIN 933 - M10 X16 With Washer DIN 125A -Dia 10.5 mm 4 ST

PULLING EYE BOLT
10_419791 1" X 8UN 4 EA
PULLING EYE BOLT
11419793 11/8" X 8 UN 4 EA
12 425335 Hex nut DIN934 M10 15 EA
13 425336 Hex bolt DIN933 M10x40 4 EA
14 425337 Washer 11/32x3 5 EA
15 425338 Hex nut DIN934 M12 25 EA
16_425339 Hex bolt DIN933 M12x40 5 EA
17_425340 Washer 14/32x3 10 EA
18 425341 Hex bolt DIN933 M12x50 5 EA
19 425342 Hex nut DIN934 M16 2 EA
20425343 Hex bolt DIN933 M16x60 1 EA
21 425344 Hex bolt DIN933 M10x70 1 EA
22 425345 Hex bolt DIN933 M16x70 1 EA
23 425346 ‘Washer 17/40x3 1 EA
24 425347 Washer 17/50x6 1 EA
25 425352 Hex Bolt DIN 933 M10X30 3 EA
26 425353 Washer 11/25x3 5 EA
27 425354 Hex bolt DIN933 M12x60 3 EA
28 450080 STUD BOLT/ 1H.N 5/8INCH - 11 UNC x 290 L SA193-B7/SA194-2H 10 ST
29 450081 STUD BOLT/ 1H.N 5/8INCH - 11 UNC x 290 L SA193-B7/SA194-2H 4 ST
30450083 STUD BOLT/ 1H.N 5/8INCH - 11 UNC x 260 L SA193-B7/SA194-2H 4 ST
STUD BOLT/2HN/2 WS
31 452784 2 INCH-8UN 790L 16 SET
COLLAR BOLT /2 HN/2 WS
32 452786 2 INCH-8UN 830L 9 SET
33 452788 THREADED COLLAR2 INCH-8UN (T35 x 73 O.D) 9 EACH
ANTI-CORR. CAP NUT
34 452791 2 INCH-8UN T80 20 EACH
35_452795 STUD BOLT /2 H.N 3/4 INCH-10UNC 120L 4 SET
STUD BOLT/2H.N/2 WS
36_452796 1 1/8 INCH-8UN 410L 6 SET
COLLAR BOLT /2 HN/2 WS
37_452797 1 1/8 INCH-8UN 435L 4 SET
38452799 THREADED COLLAR1 1/8 INCH-8UN (T20 x 45 O.D) 4 EACH
ANTI-CORR. CAP NUT
39 452801 1 1/8 INCH-8UN T50 6 EACH




